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MCO (Single Correct Answer)

[z+1] [z+2] [=+3]
Let A= [x] [r+3] [xr+3]|, where [t] denotes the greatest integer less than or
]  [r4+2] [z44]
equal to t. If det(A) = 192, then the set of wvalues of x is the interval :
0O (68, 69)
O (62, 63)
O [65, ©6)
0 (60, 61)
Explanation

[z+1] [x+2] [z+3]
[x]  [r+3] [r+3]| =192
[#]  [x4+2] [z44]

Ri = Ri — R3 & Rz — Rz — R3

1 I -1
i 1 -1 | =192
[¢] [x]+2 [z]+4

2[x] + 6+ [x] = 192 = [z] = 62
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MCQ (5ingle Correct Answer)

The number of distinct real roots

Sinx COST  COST
of [cosx sink cosx|=10 in the interwval —%53'5

cosTr  cosr  sina

Explanation

sinr CcosT CoOsT
cosy sinx cosx| =10, —’—j < r< %

cosr cosx sina

Apply : R, —+ R, —H, & R, - R,— R,

sind —cosT  CosSr —sine 0
= 0 sinr —cosr cosr—sinz| =0
COS T COS T sinxr
1 -1 0
; o] ’
= (sinx —cosx)”| 0 1 —1|=0

CcosT Ccosr  sing

= (sinz — cosz)(sinz + 2cosx) = 0
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If %, y, z are in arithmetic progression with common difference d, x #+ 3d, and

3 4v2
the determinant of the matrix |4 5+v2 y| is zero, then the value of k? is :
3k oz
0
9 12
@ 36
(0 X3
Explanation
3 T =
4 532 yl=0
a k =z
0 4HVEZ—kE—-1vT 0
= 4 52 yl=0 { + 2y = x + z}

5 k

= (k—6v2)(4z— 5y} =0

= k = 6v2 or 4z = Sy (Not possible + x, y, z in A.P.)

So, k2 = 72

~ Option (A)
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(a+1}{a+2) a+2 1
The value of |(a+2)a+3) a+3 1| is :

a+3)a+4) a+4 1

0O -
(5 )
O a+2)@+3N@+ D

©® Ca + 1)Ca + 2)(a + 3)

Explanation
a+1){a+2) a+2 1
Given, A = |(a+2)(a+3) a+3 1
a+3){a+4) a+4 1
R_;_'—}Rz—R]_ar‘idR3—>R3—R1
[a+1)a+2) a+2 1
Fag a+2)a+3—a—1) 1 0

a4+ 7a+12—a*—30-2 2 0

a?+3a+2 a+2 1
| 20+ 1 0
4a + 10 2 ]

=4{a +2) —4da — 10

=40+8—-4a—-10= —2
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MO} {Single Correct Answer)

Let A be a 3 « 3 matrix with det{A) = 4.

Let R; denote the i row of A. If a

matrix B is obtained by performing the operation Rz — 2Rz + S5Rz om 2A, then
det{B) is equal to

O &
=
ﬂlEE
O 2o
R'.I Rll
A=y Ry
fiy i
ER'.I Enll
A= 2Ry 2R
IR, IR,
My — TR + 5Ry
IRy,
8= |4y, + 10R,,
2Hy,
R-_l-—i'.ﬁlg—-hl?_l
iy 2
8= |dfy, AR
iy, IR,
2"?'.'. Eﬂll
[B] = | 4Ry AR
2fy IRy
Rl-_
|B| =2 2 x 4|Ry,
iy
= 1= 4

= G4

ity
ity
iy

2,
Zhgy
2R,
ARy + 108,
1haa
I,
Az
2y
L,
A,
i,
flia iy
fay dy
flan  fp

Explanation

2R,y
ARy + 1Ry
2Ry



